g blank pages. -

compulsorily draw diagonal cross lines on the remainin:

3

= Impprfallt Note : 1. On cémpletin'g your answers

15CS63

n, appeal to evaluator and Jor equations written eg, 42+8 = 50, will be treated as malpra

2. Any revealing of identificatio

(06 Marks) o
(10 Marksy.

(os Marks)',""

Define Macro. Give {he fealures of macro processors and explam the data structures used i+

MAacro processors. (08 Marks} 7

....... Module-2 o TTE
What is. Ioader'? What are the basic functions the loader has to perform‘? - (04 marks) =
Develop an algorithm for bootstraploader © . (07 marks)..”

Explain dynamic linking with Sl._lfi_t}ﬁbfe diagram. (05 Marks)

(08 marks) i
_(04 marks)
(04 Marks) -

(08 marks) '

(06 Marks)

| 1dent1ﬁers and""(:()nstants along w1th a minimum set of relational operators U (04 Marks). -
T Module-4 st e

What is top down parser? What are key problems in top down parsing? (08 Marks) -

Explain the ambiguity in arithmetic expression. What is the ambiguity in parsing 2+3x4? .
Explain the bolutlon for it. .. (08Marks)
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OR

What is meant by handle processing? How it helps on shift reduce parsing? List the actions

of a shift reduce parser? (08 Marks)

Form the Action/Goto table for the following grammer.;f
S — Aa|bAc|Ba|bBa L

A—=d
B—d . B
Justify whether the grammer is LR(0) or no (08 Marks)
“Module-5
Define synthesized and inherited. attnbutes with examples. (04 Marks)
Briefly explam the main 1ssues-mc@ﬁe generation. ol (08 Marks)
Explain in brief dead code el nination. (04 Marks)
Construct DAG for the e}cpfesswn 4
a+b*(a+b)*Fc+d (04 Marks)
Give SDD ofa sunple calculator. o~ (04 Marks)
Write a note on common sub expression. - (04 Marks)
What are thé" steps involved in optlrmzatlon of basic blocks. Explain any 2 steps in brief.
/ & (04 Marks)

% k ok ok
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